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1) Resol els segiients camins numerics:

l.a)
Tnici - 63 x23 /2 - 22
65 2. 4 23 1
X6 +6 x2 '+1
60 10 4 2
+ 57 /4 - 65 + 37
72 15 17 .- . 54
/8 " x9 -22 +23|Final
2 8 59 82| gy
1.b)
Thici| - 12 +256 -26 + 6
1
+ 1 + 4 x 14
x 491 /3 + 2 x7] -2
-44 +17 -70 + 3| Findl
96
l.c)
Tnicil - 62 x2]|/49 + 10
57
/3 + 711 -16] -1 X 6
x4 -61| x6|+75] -17
/2 + 24|+ 48 /3 |Final
55
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2) Resol els segiients camins numerics:

2.a)
Tnici X5 +39 -24 +16
7
x2 +12 /2
-87|x16 -70 +71 - 32
+2 x11 +10 x2 Findl
86
2.b)
Inici *x 3 - 86
31
/3 x5l x11 /7 -2
+41/21 x9 /11 + 68
x2 -31 +24 x 3 Findl
93
2.0)
Tnici 72 +15 -17 + 14
88
+17 x6 +7 /2
- 80 -3 /11 + 49
+76 -33 /23  x 38 Findl
76
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3) Resol els segiients camins numerics:

3.a)
Tnicil +47 -6 +17
6
x 13 ] - 64 -19 /7
/26 | x 44 + 1 -5 ]+ b5
+2 x 1 -37 /3 |Findl
64
3.b)
Tnicil 74 x 3 + 41
9
+ 5] - 30 -11 /3
/7 + 64| x29 /17 + 28
x 27 /3 +7 /2 Final
47
3.0)
Tnicil x2 +20] +12 /10
25
x 3 /4 /8 | x 29| x 13
-20] - 38 x 23] -41) -7
+ 37 /2 +17 /2 | Final
84




